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#include
#include
#include
#include
#include
#include
#include
#include
#include
#include

"xparameters.h"
"xutil.h"
"xio.h"
"xgpio.h"
"xtime_1.h"
"xexception_1l.h"
"xintc.h"
"xstatus.h"
"sleep.h"
"cdc_hw.h"

#include <string.h>

#include <stdio.h>
//000000000000000000000000000000
static XStatus Device_Init(void);

static XStatus Interrupt_Setup(void);

static void CDC_Handler(void);

short singen(void);

/000000000

XGpio pushs;
XGpio leds;
XIntc intc;

/000000000 wfferd000000O0O00O0OOO0O0OO
#define BUF_RX_BASE_ADDRESS 0x00000000

#define BUF_TX_BASE_ADDRESS 0x00001000

unsigned int *buf_rx;

unsigned int *buf_tx;

unsigned int buf_temp[8];



// 0000000

short y[3] = {0, 0x1492, 0};
short al = 0x6835;

short a2 = 0xc000;

short sin_temp;

/0000000

int main (void) {
int i=0, j=0;
XStatus sys_status;

XExc_Init();

//000000
sys_status = Device_Init(Q);
if (sys_status !'= XST_SUCCESS){ return sys_status; }

//000000
sys_status = Interrupt_Setup();
if (sys_status !'= XST_SUCCESS){ return sys_status; }

//Initialize interface buffer (with debug value)
//Assign Phisical Adderss to buffer

buf_rx = (unsigned int *)BUF_RX_BASE_ADDRESS;
buf_tx = (unsigned int *)BUF_TX_BASE_ADDRESS;

//000

for(i=0; i<8; i++){
buf_rx[i]=0;
buf_tx[i]=0;
buf_temp[i]=0;

}

//Main Loop



while(1){
if (j==0)
REQ_RX_BUF;
j=1;

}//End of Main Loop

return O;

static void CDC_Handler ()

{

static int 1=0;
static float x=1;//0000000000000O
static unsigned char p_in=0;

p_in = XGpio_DiscreteRead(&pushs, 1);
sin_temp = singen();
XGpio_DiscreteWrite(&leds, 1, 0x0 );//4bit0 LEDO O OO

/p_in0000000000DO0OOOOOO
if (p_in == 1) {
for(1=0; 1<x; 1++){
buf_temp[1l] = buf_rx[1];
buf_tx[1] = buf_temp[l] + (int) (sin_temp << 3);
//x080000001000O
if (x>8)1{

x=1;

}
x=x+0.001; //0000



Yelse if (p_in == 2) {
XGpio_DiscreteWrite(&leds, 1, 0x2 );//LEDOOODO
for(1=0; 1<2; 1++){
buf_temp[1l] = buf_rx[1];
buf_tx[1] = buf_temp[1l] + (int) (sin_temp << 2);

Yelse if(p_in == 4){
for(1=0; 1<3; 1++){
buf_temp[1l] = buf_rx[1];
buf_tx[1] = buf_temp[l] + (int) (sin_temp << 2);

telse if(p_in == 8){
XGpio_DiscreteWrite(&leds, 1, 0x8 );
for(1=0; 1<4; 1++){
buf_temp[1l] = buf_rx[1];
buf_tx[1] = buf_temp[l] + (int) (sin_temp << 2);

Yelse if(p_in == 16){
for(1=0; 1<5; 1++){
buf_temp[1l] = buf_rx[1];
buf_tx[1] = buf_temp[l] + (int) (sin_temp << 2);

Yelse if(p_in == 3){
XGpio_DiscreteWrite(&leds, 1, 0x3 );
for(1=0; 1<6; 1++){
buf_temp[1l] = buf_rx[1];
buf_tx[1] = buf_temp[l] + (int) (sin_temp << 2);

Yelse if(p_in == 6){



for(1=0; 1<7; 1++){
buf_temp[l] = buf_rx[1];
buf_tx[1] = buf_temp[l] + (int) (sin_temp << 2);

telse if(p_in == 12){
XGpio_DiscreteWrite(&leds, 1, Oxc );
for(1=0; 1<8; 1++){
buf_temp[1l] = buf_rx[1];
buf_tx[1] = buf_temp[1l] + (int) (sin_temp << 2);

} else {
for(1=0; 1<8; 1++){
buf_temp[1l] = buf_rx[1];
buf_tx[1] = buf_temp[l];
}

SET_TX_BUF;
usleep(1);
FREE_TX_BUF;

//00000000
static XStatus Device_Init()

{
XStatus sys_status;

sys_status = XGpio_Initialize(&leds, XPAR_LEDS_4BIT_DEVICE_ID);
if (sys_status != XST_SUCCESS){ return sys_status; }
XGpio_SetDataDirection(&leds, 1, 0x0);

sys_status = XGpio_Initialize(&pushs, XPAR_PUSH_BUTTONS_POSITION_DEVICE_ID);
if (sys_status != XST_SUCCESS){ return sys_status; }



XGpio_SetDataDirection(&pushs, 1, 0x1);

sys_status = XIntc_Initialize(&intc, XPAR_OPB_INTC_O_DEVICE_ID);
if (sys_status != XST_SUCCESS){ return sys_status; }

return XST_SUCCESS;

/00000000000
static XStatus Interrupt_Setup()
{

XStatus sys_status;

//Register Handlers

//000

XExc_RegisterHandler ( XEXC_ID_NON_CRITICAL_INT,
(XExceptionHandler)XIntc_InterruptHandler,
&intc );

sys_status = XIntc_Connect( &intc,
XPAR_OPB_INTC_O_OPB_CODEC_CNTLR_O_RX_INTR_INTR,
(XInterruptHandler)CDC_Handler,
(void *)0 );

if (sys_status != XST_SUCCESS){ return sys_status; }

XIntc_Enable(&intc, XPAR_OPB_INTC_O_OPB_CODEC_CNTLR_O_RX_INTR_INTR ); //[0]

XIntc_Acknowledge(&intc, XPAR_OPB_INTC_0_OPB_CODEC_CNTLR_O_RX_INTR_INTR ); //[0]

XExc_mEnableExceptions (XEXC_NON_CRITICAL);

sys_status = XIntc_Start(&intc, XIN_REAL_MODE);
if (sys_status != XST_SUCCESS){ return sys_status; }



return XST_SUCCESS;
}

/000000000
short singen () {

y[0] = ((int)alxy[1] + (int)a2*y[2]) >> 14;
y[2] = y[1];
y[1] = y[0];

return(y[0]);



O0d:

static void CDC_ Handler
bt oUpindodoooooouououououooouoooo

static XStatus Device_Init
Ooo0ooooooog

static XStatus Interrupt_Setup
goooooouoouooood

short singen
OO0oO0oOoDoooooog

pin=10000000000000000sin00(00)000000000000000
sin00000000000000000000000000000000sin0000000
000000 K00)00000000000000000000000K00)000000
000000x00000pin=1000000000000000000000000000
0000000000000 0000000000000000000000 cPUODOO
0000000000000000000000000000000000000000 CPU
00000000000 main00000000000000000000000000 xO
000000000000 0000000000000x0000000000000000
0000000000000 00000000x00000000000000000000
ooo

p.in=2,4,8,16,3,6,120 00000000 (00)000000000K00)0000000
0000000000pin00000000000)000000000000000000
ooooooon



0000 (sinctemp) 00000000 short y[3]0short alOshort 220000000000
00 yB|0al0Da2000000000000000000 sintempO0 00000000000
gboboodbboobboobbiogibbpan=1000000000000O0000O0O0O0OO
U0 pomO00ogoobbooogbboboooob3bnuoobboboooon

HEN
if(pin == 6)//p.in=60000000000 I
for(1=0;1<7; 14++){//10 00000000000
buf_temp|l] = buf_rx][l];
buf_tx[l] = buf_temp]l] + (int)(sin_temp << 2);//sintemp 00000000000
/000000000

) /

pin000(2,3,812) 0000 LEDOOOOOOODDOOOOOO XGpio_DiscreteWrite()
0pin00000000O0LEDOOOOOODOONONDOONONODOOONODONONODOOONOOOO
00000 20000000000 LEDOOOOOOOOOO@EDOOOOOOOOOO
000000000000002000100000000 pin=20000000 2000 LED
000o00o0o00000)

00
[ XGpio DiscreteWrite(&leds, 1, Oxc );//000 1000 2000 LEDDOO0OO (1100)




